COT 3100 Fall 2006 Homework #3
Assigned: 10/5/06
Due: 10/13/06 (in recitation)

Do the following exercises from the textbook:

Section 2.1 (ppg 54-55): 8e, 8h, 12a

Section 2.2 (ppg 66 - 67): 6d, 18ab

Section 2.3 (ppg 84 - 86): 4abcd, 8, 10bfh, 12b

Section 2.4: (ppg 100-103): 8acgh, 16ab, 18ac

Do this problem also:

Prove the following assertion:

If x+y+z > 60, then x  > 20 or y > 20 or z > 20.

Note: The programming option is on the next page. If you choose to do that, please submit your code (.c, .cpp or .java file) over WebCT for the assignment P3. If you choose this option, you can skip the questions in sections 2.1, 2.2 and 2.4. For all other students, don't submit anything over WebCT. Your grade for the corresponding work will be entered in WebCT manually by the TAs.
Programming Option (Note: if you do this, then you don't have to do any of the problems in sections 2.1, 2.2 or 2.4):

Write a program that prints out a truth table for any expression of the form

(a op1 b) op2 (c op3 d)

where op1, op2 and op3 are one of the five following operators: and, or, xor, nor, nand.

Prompt the user for the value of op1, op2 and op3. Then print out a table header, along with 16 rows with a truth table for the expression. The truth table should have five columns, one for a, b, c, d, and one for the final answer.

Here is a quick sample run:

Please enter op1(and=1,or=2,xor=3,nor=4,nand=5)

1

Please enter op2(and=1,or=2,xor=3,nor=4,nand=5)

1
Please enter op3(and=1,or=2,xor=3,nor=4,nand=5)

1

Here is your truth table:
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Extra Credit:
Let ? be an unknown boolean logical operator. The logical statement [((p ( q) ( r] ( (q ? r) is equivalent to (p ( (q ( r). Given this information, there are 2 possible truth tables for the boolean logical operator ?. List, with proof, both of these truth tables. 

